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1 ����� num = ∆ + ∆ + ∆ ��

�	�
����������������
����������������

������������
���������������

1.1 �����

������������������

(
x2

1 + x2
2

) (
y2
1 + y2

2

)
= (x1y1 − x2y2)2 + (x1y2 + x2y1)2 .

�����������������

(
x2

1 + x2
2 + x2

3 + x2
4

) (
y2
1 + y2

2 + y2
3 + y2

4

)
= z2

1 + z2
2 + z2

3 + z2
4 ,

�� ⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

z1 = x1y1 + x2y2 + x3y3 + x4y4,

z2 = x1y2 − x2y1 + x3y4 − x4y3,

z3 = x1y3 − x3y1 + x4y2 − x2y4,

z4 = x1y4 − x4y1 + x2y3 − x3y2.

1.2 ������

�� 1.1 ������������������

������ 2 = 12 + 12 + 02 + 02���������� p ��������	�


���

(1) �������
�� m (1 ≤ m < p) �� mp �������������

��� p + 1 ���

1 + 02, 1 + 12, 1 + 22, · · · , 1 +
(

p − 1
2

)2

,

−02,−12,−22, · · · ,−
(

p − 1
2

)2

.

������������� p ��������	��������
��

���	������ x, y ��{
1 + x2 ≡ −y2 (mod p),
0 ≤ x, y ≤ p−1

2 .

�� 1 ≤ 1 + x2 + y2 < 1 + 2(p−1
2 )2 < p2���

02 + 12 + x2 + y2 = mp,

�� 1 ≤ m < p.
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(2) ��
�� m �� mp �������������
�����
����

�� m = 1�� (1) �� {
mp = x2

1 + x2
2 + x2

3 + x2
4,

1 ≤ m < p.

���� m ������ m �����

mp = x2
1 + x2

2 + x2
3 + x2

4

������

(x1 + x2 + x3 + x4)
2 ≡ x2

1 + x2
2 + x2

3 + x2
4 ≡ mp ≡ 0 (mod 2)

���� x1 + x2 + x3 + x4 ������	���������

(a) x1, x2, x3, x4 �����

(b) x1, x2, x3, x4 �����

(c) x1, x2, x3, x4 ��������������������
�� x1, x2 �

��� x3, x4 ����

������������� x1 +x2, x1 −x2, x3 +x4, x3 −x4 �����	��

mp

2
=

(
x1 + x2

2

)2

+
(

x1 − x2

2

)2

+
(

x3 + x4

2

)2

+
(

x3 − x4

2

)2

,

� (mp)/2 �������������� m ����������� m ��

��

�����m = 1���		� m ������ 3 ≤ m < p, ���� m ��

���� x1, x2, x3, x4����� mp = x2
1 + x2

2 + x2
3 + x2

4 	 p ����	��

	������� 0 ���

y1, y2, y3, y4

�
 {
xi ≡ yi (mod m),
|yi| < m

2 ,
i = 1, 2, 3, 4.

�	� {
1 ≤ y2

1 + y2
2 + y2

3 + y2
4 < 4

(
m
2

)2 = m2

y2
1 + y2

2 + y2
3 + y2

4 ≡ x2
1 + x2

2 + x2
3 + x2

4 ≡ 0 (mod m)
⇒ y2

1 + y2
2 + y2

3 + y2
4 = nm, 1 ≤ n < m < p

⇒ (
x2

1 + x2
2 + x2

3 + x2
4

) (
y2
1 + y2

2 + y2
3 + y2

4

)
= nm2p.
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� ⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

z1 = x1y1 + x2y2 + x3y3 + x4y4,

z2 = x1y2 − x2y1 + x3y4 − x4y3,

z3 = x1y3 − x3y1 + x4y2 − x2y4,

z4 = x1y4 − x4y1 + x2y3 − x3y2.

�� xi ≡ yi (mod m) � x2
1 + x2

2 + x2
3 + x2

4 = mp ≡ 0 (mod m)���

z1 ≡ z2 ≡ z3 ≡ z4 ≡ 0 (mod m).

�	���������⎧⎪⎨
⎪⎩

nm2p =
(
x2

1 + x2
2 + x2

3 + x2
4

) (
y2
1 + y2

2 + y2
3 + y2

4

)
= z2

1 + z2
2 + z2

3 + z2
4

1 ≤ n < m < p

⇒ np =
(

z1
m

)2 +
(

z2
m

)2 +
(

z3
m

)2 +
(

z4
m

)2
,

� np �������������� m ����������	 m = 1�

� (1), (2) �	������������������� �

�� 1.2 (������) ���
���������������

������������������� �

1.3 �� num = ∆ + ∆ + ∆ ��

�������	����

(n − 1)n
2

, n �
��,

�

�������������

0, 1, 3, 6, 10, 15, 21, · · · .

��
 1796 �������������	���

EΥPHKA! num = ∆ + ∆ + ∆.

� !���
�������

�� 1.3 (��������) ���
���������������

��������������	�������

�� 1.4 ��� 8 ������ 3 �
���������������
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�����������"����������#�����������		

�� 1 �
�������������� N ����
��������	�� 8N + 3 �

��������������

8N + 3 = (2a + 1)2 + (2b + 1)2 + (2c + 1)2 = 4(a2 + a + b2 + b + c2 + c) + 3.

��

N =
a(a + 1)

2
+

b(b + 1)
2

+
c(c + 1)

2
.

��� �

�� 1.1 ���������

�� 1.2 ��
�������������������

�� 1.3 �	 119 ���$�
�������

�� 1.4 �	 2023 ���$�
�������

�� 1.5 ������������
����������

(1) �����

6(x2
1 + x2

2 + x2
3 + x2

4)
2 =

∑
1≤i<j≤4

(xi + xj)4 +
∑

1≤i<j≤4

(xi − xj)4.

(2) � n �
����� 6n2��� 12 ���������

(3) ����
������ 53 ���������

�� 1.6 Æ	 x1, x2, x3; y1, y2, y3 �%�&	������������

z1 = f(x1, x2, x3, y1, y2, y3),
z2 = g(x1, x2, x3, y1, y2, y3),
z3 = h(x1, x2, x3, y1, y2, y3)

�
 (
x2

1 + x2
2 + x2

3

) (
y2
1 + y2

2 + y2
3

)
=

(
z2
1 + z2

2 + z2
3

)
.

�� 1.7 ���������� T ���������

1 · T + 0, 9 · T + 1, 25 · T + 3, 49T + 6, 81 · T + 10

�������������������
�'���

1���������� M. B. Nathanson �� Additive Number Theory �� 23 ��
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)���	����*
�

��

��

���

� n ≥ 3 �
���������
�� x � y �


2n = x2 + 7y2.

������
Ǳ

�����������������

12 + 22 + 32 + · · · + n2

�� n = 1 � n = 24 �+��������,���������
���-��

��������������
����,������������	�

����
Ǳ (
n

0

)
+

(
n

1

)
+

(
n

2

)
+

(
n

3

)

�� n = 2, 7, 15 � 74 �+�������������./�		
Ǳ���


��
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